Physics 2A


Name_________________

Newton’s Laws Worksheet

Three blocks that are connected by cables that don’t stretch are pulled across a frictionless surface as shown below. Turn this problem in at the beginning of the next lecture.

a. Draw a free-body diagram treating the three objects as one large object.

b. Sum the forces on this large object to obtain the acceleration of the system.

c. What would have to be true regarding the cables if the acceleration of each object were different?

d. Draw a free-body diagram for each object.

e. Sum the forces in the x-direction for each object.

f. Using the equations from the previous part determine the T1 and T2.

g. Sum the forces in the y-direction for each object.

h. Determine the normal force acting on each object.
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